0.95 0.95

510 =

g 5
= 8

° S
B 5107
102 :

o 3: 1072
.91QD§_....I....I....!....I....I.... .910@_....[....!....!....!....!....
§ - ' E § X

itk

3 3

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
—— DQM_V0001_R000000001__Global_mKkFit10000__RECO

—— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime__RECO

1=

SICEWACL
oloa) (cm)

107

|
W[

-2 -1 0 1 2 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

|
W[

=

~ : :
g - )
- : :
2 . .
o ; : :
5 Lo {1 | B R g
] .
L.... CLH- 8- - - - % THE I | 0
: b :
I | (L] - - -
L.... L K011 R
(1)
107 LR VR B et o
3 . b 1 n
|- - - 14 -14 - - 4
o ool IR |
gt :
@
k-
0.95L ; : ; ; : ;
=3 -2 -1 0 1 2 3

TP n (PCA- to beamline)



	Contents
	Page 1


